


BLOOD RELATION 



PUZZLE FORM



T is father of X, who is nephew of P. L is married to X. Y is 

grandmother of D, who is offspring of L. J is brother-in-law 

of L. 
T, X का पिता है, जो P का भतीजा है। L का पििाह X से हुआ है। Y, D की
दादी है, जो L की संतान है। J, L का ब्रदर-इन-लॉ है।
1. If Q is brother of L, then how is D related to Q?
1) Nephew

2) Niece

3) Sister

4) Either 1 or 2



There are eight members in a family  K, O,L, N, Q, M, P and S.  Among 

them three are married couples. S is the daughter of the one who is L’s  

nephew . Q is the daughter in-law of the one who is grandfather of M. O 

has only one grandson.  P is grand-daughter-in-aw of K . L is O's 

husband's sister .

How is k related to Q ?
एक िररिार K, O, L, N, Q, M, P और S में आठ सदस्य हैं। उनमें से तीन पििाहहत जोडे
हैं। S उस व्यपि की िुत्री है जो L का भतीजा है। Q उस व्यपि की बहू है जो M का दादा है।
O का केिल एक िोता है। P, K की िोती है। L, O के ितत की बहन है।
k, Q से हकस प्रकार संबंतित है?

1- Mother- in- law

2- mother 

3- father

4- daughter -in- law



L, M, N, O, P, Q and R are seven members of a same family. L is 

husband of N who is daughter of R. R is wife of M. O and P are 

grandchildren of M. L and N have only two daughters and no son. Q is 

brother of N. 

How is Q related to O?
L, M, N, O, P, Q और R एक ही िररिार के सात सदस्य हैं। L, N का ितत है जो R 

की िुत्री है। R, M की ित्नी है। O और P, M के िोते हैं। L और N की केिल दो 
िुपत्रयााँ हैं और कोई िुत्र नहीं है। Q, N का भाई है।
Q, O से हकस प्रकार संबंतित है?
1) Nephew

2) Niece

3) Aunt

4) Uncle



A family of nine members  M , G , A , D , N , Z , S , T and W. They are 

consist of three - generation and three married couples . Either Both 

Parents Alive Or None. M is the brother of N. S is married to G. A is the 

spouse of T , who is the father of S. G is the brother - in - law of W. Z is the 

son - in - law of A. N is the niece of W , who is the mother of D.

How is A related to N?
नौ सदस्यों M, G, A, D, N, Z, S, T और W का एक िररिार। िे तीन-िीढी और तीन 
पििाहहत जोडों से तमलकर बने हैं। या तो माता-पिता दोनों जीपित हैं या कोई नहीं । 
M, N का भाई है। S, G से पििाहहत है। A, T का जीिनसाथी है, जो S का पिता है। G, 

W का ब्रदर-इन-लॉ है। Z, A का दामाद है। N W की भतीजी है, जो D की माता है।
A, N से हकस प्रकार संबंतित है?
1- Grandmother

2- Granddaughter

3- Grandfather
4- Grandson



In a family - N is married to A , who is the father of S. A has only one son 

. S is the brother of D. H is the sibling of R and child of K. D is the spouse of 

K , who has only one daughter . The gender of D and H is the same . How 

many male members are in the family ?
एक िररिार में - N का पििाह A से हुआ है, जो S का पिता है। A का केिल एक िुत्र 
है। S, D का भाई है। H, R का सहोदर है और K का बच्चा है। D, K का जीिनसाथी है, 
जजसकी केिल एक बेटी है। D और H का तलंग समान है। िररिार में हकतने िुरुष 
सदस्य हैं?
1-2

2-4

3-5

4-3


